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CC Algebra 

March 12, 2014 
Quadratic Word Problems – Day 2

1) One base of a trapezoid is 4 inches more than twice the length of the second base.  The height of the trapezoid is two inches less that the second base.  If the area of the trapezoid is 4 square inches, find the dimensions of the trapezoid.  
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2) A garden measuring 12 m by 16 m is to have a pedestrian pathway that is w meters wide installed all the way around it, increasing the total area to 285 square meters.  What is the width, w, of the pathway?
3) The ratio of length to width (measured in inches) in a rectangle is 4:7.  Find the length of the rectangle if the area is known to be 700 sq. in. 
4) Find two negative consecutive even integers whose product is 80.  
5) One base of a trapezoid is three times the length of the second base.  The height of the trapezoid is 2 in. smaller than the second base.  If the area of the trapezoid is 30 in2, find the lengths of the bases and the height of the trapezoid. 
6) A plot of land for sale has a width of x ft., and a length that is 8 ft. less than its width.  A farmer will only purchase the land if it measures 240 sq ft.  What value for x will cause the farmer to purchase the land? 
7) A student is painting an accent wall in his room where the length of the wall is 3 feet more than its width.  The wall has an area of 130 ft2.  What are the length and the width, in feet? 
8) The length of a rectangle is 2 cm less than its width.  If the area of the rectangle is 35 cm2, find the width.  
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